Power Distributors https://pd.partsmartweb.com/scripts/EmpartISAPI.dII?MF &app=powerdis...

074009-0 - 5.1 CFM 4 Gal - Air Compressor

1of 3 11/9/2020, 7:08 PM



Power Distributors

2 0f3

Ref# Part#

1

O 0 3 O L B W N

SR B W W W W W W W W W RN D NN DN DN DN N P =, s e e e e
W — O O 0 9 LN AN~ O 0 0 393 N B WD~ O WV XIS N B LW —~= O

200690GS
200687GS
200684GS
200697GS
200685GS
200688GS
200717GS
200694GS

199961GS
200984GS
200682GS
200720GS

200718GS
200985GS
200680GS

200677GS
200691GS
203664GS

200986GS

200706GS
200995GS
200992GS
200674GS
200988GS
200989GS
199961GS
200675GS
192310GS

200994GS
200910GS
200703GS
201697GS
200678GS

https://pd.partsmartweb.com/scripts/EmpartISAPI.dII?MF &app=powerdis...

Description
Kit, Shroud, Plastic
Kit, Air Filter
Screw, M6 x 40
Filtering Element
Connector, Elbow
Valve, Start
Breaker,Circuit, 17A
Capacitor
Nut, M8
Screw, Taptite M5 x 20
Hose, Rilsan
Base
Handle
Assy, Cable, Power
Stud Bolt
Nut, M8
Kit, Valve Plate
Connector, Elbow
Gauge, Pressure
PPHMS, 5 x 12
Coupler, Quick Connect
Dipstick, Oil
Kit, Panel, Instrumental
Washer
Connector, Elbow
HHCS, M8 x 25
Manifold

Assy, Pressure Regulator

Connector, Elbow
Valve, Non Return
Connector, Elbow
Hose, Rilsan
Hose, Rilsan
Valve, Drain
Kit, Vib Mount
Nut
Assy, Pressure Switch
Wire Harness
Kit, Tube, Infeed
Adapter
Valve, Safety

Qty  Context Note
Includes #45 & 49

(Purchase locally)
(Purchase locally)
Cut to fit

(Purchase locally)
(Purchase locally)

(Purchase locally)

(Purchase locally)

(Purchase locally)

(Purchase locally)

Foot Note

11/9/2020, 7:08 PM



Power Distributors

3of3

https://pd.partsmartweb.com/scripts/EmpartISAPI.dII?MF &app=powerdis...

Ref# Part# Description Qty Context Note Foot Note
44 199176GS Decal, Electric Shock
45 199174GS Decal, Hot Surface
46 201732GS Decal, Important, Level Surface
47 199172GS Decal, Warning
48 199739GS Decal, Warning, Tank Drain
49 201731GS Decal, Reset
50 199961GS Hose, Rilsan
-- 203720GS Manual, Operator's Parts Not Illustrated
--  201765GS Oil, Compressor Parts Not Illustrated
--  202782GS Kit, Decals, Service Parts Not Illustrated

11/9/2020, 7:08 PM



